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1) Given the region below enclosed by f(x) = In(x — 3), theline y =7 — —x and the x — axis.

hxe3) y (17.346,2663) | Methed 2: (Right~Lelt )

X:lf Uj \ \1‘ I/"j:?'}'!b( i f[-_‘_/ﬂ;(x-?')'j j: ?'—zr{*x
\'///”_g! :\g\f[ =¥/ €) e '/ 2 y )-4

o i1.34¢ o e’jrx-B ,"\flh = 4%

3{‘(9“1 - .l .QS’—-[{-j =X
17340 | ] ‘/’
ﬂr?ﬁ* . ﬂn(x—3) -0 dx +j‘{:3‘+ 64-" ~odx \f\kgxgg
( ) . 2.663
Aroa = L4%.5¢H + 14185 =39 052 wik? ’/Mf” . BW/

2) Given the region below enclosed by f(x) =In(x + 6) , theline y = —3, and x = 5.
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a) Find the Volume of solid generated when the enclosed region is revolved about the line y =—4
(Write the integral notation as well as the numeric approximation rounded to 3 decimal places)
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b) Find the Volume of solid generated when the enclosed region is revolved about the line x = 5 (Write
the 1ntegra1 notation as well as the mimenc approximation rounded to 3 decimal places) 0/
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3) Giveﬁ the region below enclosed by f(x) = vx+6 ,the g(x) =e* +1

a) Find the Volume of solid generated when the enclosed region is revolved about the line x =—6 (Write
the integral notation as well as the numeric approximation rounded to 3 decnnal places)
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b) The enclosed region is the base of a solid. The cross section of the solid taken parallel to the y-axis is
a i%%gv%pot@gse on base. Find the volume of the given sohd (erte the integral
notation as well as the numeric approximation rounded to 3 decimal places) {
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4) Given the region below enclosed by f(x) = —x? +4 and g(x) = — —:—x +2

AOR y=4
Find the Volume of solid generated when the enclosed region is revolved about the line y = 4 (Write the
A oR 1ntegra1 notation as well as the numeric approximation rounded to 3 decimal places)
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